







Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_

$$30(\frac{1}{4} - \frac{3}{4}) \div 6 =$$

$$\frac{1}{2} + \frac{1}{2}(\frac{1}{2} - \frac{3}{2}) =$$

$$\frac{2}{5} - \frac{1}{2}(\frac{1}{3} + \frac{3}{4}) =$$

$$63(\frac{1}{3} - \frac{3}{5}) \div 9 =$$

$$(\frac{1}{4} - \frac{2}{3}) \times \frac{3}{4} + \frac{3}{2} =$$

$$(12 \div 2 - \frac{1}{4}) \times \frac{3}{2} =$$

$$(\frac{1}{3} - \frac{1}{2}) \times \frac{1}{3} - \frac{1}{2} =$$

$$(44 \div 4 - \frac{1}{2}) \times \frac{1}{3} =$$

$$77(\frac{1}{2} - \frac{1}{3}) \div 7 =$$

$$(\frac{3}{2} + \frac{1}{6}) \times \frac{1}{5} - \frac{1}{5} =$$

Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_

$$30(\frac{1}{4} - \frac{3}{4}) \div 6 = (-\frac{5}{2}) = (-2\frac{1}{2})$$

$$\frac{1}{2} + \frac{1}{2}(\frac{1}{2} - \frac{3}{2}) = 0$$

$$\frac{2}{5} - \frac{1}{2}(\frac{1}{3} + \frac{3}{4}) = (-\frac{17}{120})$$

$$63(\frac{1}{3} - \frac{3}{5}) \div 9 = (-\frac{28}{15}) = (-1\frac{13}{15})$$

$$\left(\frac{1}{4} - \frac{2}{3}\right) \times \frac{3}{4} + \frac{3}{2} = \frac{19}{16} = 1\frac{3}{16}$$

$$(12 \div 2 - \frac{1}{4}) \times \frac{3}{2} = \frac{69}{8} = 8\frac{5}{8}$$

$$(\frac{1}{3} - \frac{1}{2}) \times \frac{1}{3} - \frac{1}{2} = (-\frac{5}{9})$$

$$(44 \div 4 - \frac{1}{2}) \times \frac{1}{3} = \frac{7}{2} = 3\frac{1}{2}$$

$$77(\frac{1}{2} - \frac{1}{3}) \div 7 = \frac{11}{6} = 1\frac{5}{6}$$

$$\left(\frac{3}{2} + \frac{1}{6}\right) \times \frac{1}{5} - \frac{1}{5} = \frac{2}{15}$$